2-1

2-2

L[km]
2 5vVL[mm]
GPS
1891
1
1/100[mm]
1/10 [m]
1 1 2 1
1
2005 3 23 4 15
18 20[km]
1
NA3003 1
1
2
4
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2-3

2-3 a

2-3 b CHECK&AJUST=
2 A B

1 1/3

1/5 2/5

a =arctan{(AL-Bl+B2- A2)/(d1-d2+d3-d4)}
Al, A2,B1,B2: d1,d2,d3,d4

2-3 d
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30[m]
““CHECK&AJUST?”
2 45[m]
1/3
t1 t2
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3-1

3-1

3-1

3-1

3-1

3-1
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1[cm]



3-2

3-2

3-2

3-2

3-2

70

S 30

S17

S17

BMSVO

dH

S17

15[mm]

S27

S26’

2003
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BMSVO <--- Dist. from S17 (km) ---> S.30
3
5
2
3
1[cm]
5[cm]
2 10
15[cm] 40 50[m] 5[mm]
1[cm] 5[cm]
50[cm]
4
10[cm]
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U-CAN

30 30

100
40

40kg

GPS 2
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